Y
o
R
K
i
31}
&
A

0 WEEELRRE

PRIRIEL

@)

05

L

4
N

¥EZA& 3400-CN

Ly EX

DIN - 22l

CA A-125

=

24°4ERIZL - BRI
- Ol - ¥k

CE A-125

24°HEMIRLL - BRI
- O - 45°383k

CF

24°HRIZY - BRT
- OFS & - 90° sk

C3

AHIRIRY - BRF

-EEL Gk

Cc4 A-126

@

ANHIRIEL - B RT
- 45°8sk (3ksk)

C5

AHIRIRY - 2R
- 90°#% K (3ksK)

DO A-127

B

24°4EIMBZLT - R R
- Bk

ORFS

JC A-127

i

ORFSPE4 - Hikk
- 58

BSP

92 A-127

B

BSPPHIR4L - 60°4
-BEk

SAE

01 A-128

gy

NPTHMBLL - Bk

06 A-128

ey

JIC 37° R4 - BiEsk

#E7 3400-CN

Tel: 010-8428 2935 Fax: 010-8428 8762 Email:sales@cnmec.biz




& 3400-CN mEREL

DIN - 241 82 %%l

3CA82
AFI24°HPIRSHEORE - B RY - EEL
ISO 12151-2-SWS-L - DKOL
o
# vy (@) () A 58
>
BS L RENZID. A B w ‘_’1 X
N | DN inch mm mm mm @ IE—W ﬂ
3CA82-6-4 6 M12x1.5 6 1/4 40 21 14 - B -
3CA82-8-4 8 M14x1.5 6 1/4 36 17 17 i[_n(ﬂ
3CA82-10-6 10 M16x1.5 10 3/8 40 17 19 ¥
3CA82-12-6 12 M18x1.5 10 3/8 40 17 22 w A
3CA82-15-8 15 M22x1.5 12 1/2 44 18 27
3CA82-18-10 18 M26x1.5 16 5/8 56 19 32
3CA82-22-12 22 M30x2 20 3/4 58 21 36

i
3CE82 g
AHI24°5 RIBLUEONE - BRI - 45°8sL =
ISO 12151-2-SWE45°-L - DKOL 45° o
-
&
il
# (e (®) @) n =
S $Ray REAE 1.D. A B E w &
N DN inch mm mm mm mm . B
3CE82-6-4 6 M12x1.5 6 1/4 56 37 21 14 ?
3CE82-8-4 8 M14x1.5 6 1/4 51 31 16 17
3CE82-106 | 10 | M16x1.5 10 3/8 59 37 19 19
3CE82-12-6 12 M18x1.5 10 3/8 60 37 10 22
3CE82-15-8 15 M22x1.5 12 1/2 69 43 21 27
3CE82-18-10 18 M26x1.5 16 5/8 83 46 23 32
3CE82-22-12 22 M30x2 20 3/4 97 60 26 36
- /
@
3CF82 =

A4 HNIRECHORE - BRI - 90°HL
ISO 12151-2-SWE90°-L - DKOL 90°

(@

# (Y (@) ()
Bns L REANEZ 1.D. A B E w
Nl DN inch mm mm mm mm
3CF82-6-4 6 M12x1.5 6 1/4 42 23 36 14
3CF82-8-4 8 M14x1.5 6 1/4 41 23 29 17
3CF82-10-6 10 M16x1.5 10 3/8 49 27 35 19
3CF82-12-6 12 M18x1.5 10 3/8 49 27 35 22 I:Ig
3CF82-15-8 15 M22x1.5 12 1/2 60 34 41 27 ']'L
3CF82-18-10 18 M26x1.5 16 5/8 74 37 45 32 ‘Sé
3CF82-22-12 22 M30x2 20 3/4 83 46 55 36 mK

HARSR#ESE, BEUALGRRRT R,

m A-125 ¥EA 3400-CN




& 3400-CN mEREL

82 %%l DIN - 2\l

AHIPEL - 32 RF - RSk (Bksk)
DKL
o A
;é( - # (YWY (@) ()
X ns BELL REANE I.D. A B w
ﬂﬁ N DN inch mm mm mm
" 3C382-6-4 6 M12x1.5 6 1/4 33 14 14
Hﬂ 3C382-8-4 8 M14x1.5 6 1/4 33 14 17
¥ 3C382-10-6 10 M16x1.5 10 3/8 37 15 19
A 3C382-12-6 12 M18x1.5 10 3/8 38 16 22
3C382-15-8 15 M22x1.5 12 1/2 42 15 27
3C382-18-10 18 M26x1.5 16 5/8 58 17 32
3C382-22-12 22 M30x2 20 3/4 53 17 36
3C382-28-16 28 M36x2 25 1 58 22 41
b
fg 3C482
i AHIPIRY - 2R 7 - 4583k (BksL)
11:1_._\42‘( DKL45°
gl A
o P EEe ®
N B
—— |
B ne 37 HREMNER I.D. A B E w
- N DN inch mm mm mm mm
E F 3C482-6-4 6 M12x1.5 6 1/4 51 32 16 14
W 3C482-8-4 8 M14x1.5 6 1/4 51 32 16 17
3C482-10-6 10 M16x1.5 10 3/8 58 35 18 19
3C482-12-6 12 M18x1.5 10 3/8 59 36 18 22
3C482-15-8 15 M22x1.5 12 1/2 68 41 19 27
3C482-18-10 18 M26x1.5 16 5/8 81 45 21 32
3C482-22-12 22 M30x2 20 3/4 88 52 23 36
= /
&
£«
) 3C582
C AHIPEL - 2R T - 90°8EL (BkL)
DKL90°
A |
# (s (@) ()
— |
Bns BELL HEME LD. A B E w
- _ ANl DN inch mm mm mm mm
y 3C582-6-4 6 M12x1.5 6 1/4 42 23 29 14
E 3C582-8-4 8 M14x1.5 6 1/4 42 23 29 17
W 3C582-10-6 10 M16x1.5 10 3/8 49 27 33 19
I:IE 3C582-12-6 12 M18x1.5 10 3/8 49 27 34 22
R ‘ 3C582-15-8 15 | M22x1.5 12 172 60 34 39 27
ﬁ 3C582-18-10 18 M26x1.5 16 5/8 74 37 43 32
( 3C582-22-12 22 M30x2 20 3/4 88 51 50 36

HARSR#ESE, BEUALGRRRT R,

m A-126 ¥EA 3400-CN




& 3400-CN mEREL

DIN - 241, ORFS, BSPP 82 %%

3D082
Afl24°HMRL - EiEL
ISO 12151-2-S-L-CEL
o
A
# (s (@) () - .:5
S $ReY REANEZEID. A B H — i
N | DN inch mm mm mm = | ﬂ!(‘
3D082-6-4 6 M12x1.5 6 1/4 35 16 12 "
3D082-8-4 8 M14x1.5 6 1/4 36 17 14 i[_n(ﬂ
3D082-10-6 10 M16x1.5 10 3/8 41 18 17 H ¥
3D082-12-6 12 M18x1.5 10 3/8 41 18 19 A
3D082-15-8 15 M22x1.5 12 1/2 49 23 22
3D082-18-10 18 M26x1.5 16 5/8 58 21 27
3D082-22-12 22 M30x2 20 3/4 63 27 30
o
3JC82 ii‘
ORFSHUZLY - L - 1gHY i
ISO 12151-1 - SWSA M
A $u
# i (®) e'e &
e L4y HERNRID. A B (o] H w B
UNF DN inch mm mm mm inch inch
3JC82-4-4 1/4 9/16x18 6 1/4 36 17 8 9/16 11/16
3JC82-6-6 3/8 11/16x16 10 3/8 40 18 10 11/16 | 13/16
3JC82-8-8 1/2 13/16x16 12 1/2 46 19 1 13/16 | 15/16
3JC82-10-10 5/8 1x14 16 5/8 61 24 13 15/16 | 1-1/8
3JC82-12-12 3/4 | 1-3/16x12 20 3/4 67 30 14 1-1/8 | 1-3/8
- /
4
39282 ;ﬁ

BSPPPHELY - 60°% - Bzl
BS5200-A - DKR

(@

# (Y (@) () . A
ns e HEAE LD. A B w g
BSPP DN inch mm mm mm
3J922-4-4 1/4x19 6 1/4 33 14 17 -
3J922-6-6 3/8x19 10 3/8 37 14 19
3J922-8-8 1/2x14 12 172 42 15 27
3J922-10-10 5/8x14 16 5/8 53 16 30 w
3J922-12-12 3/4x14 20 3/4 58 21 32 08
R
2
g

HARSR#ESE, BEUALGRRRT R,

m A-127 ¥ 3400-CN




& 3400-CN mEREL

82 %%l SAE

30182

NPTHMELL - Bk
SAE J476A/J516 - AGN

| A
X
o 5 # (s (@) ()
K | s BREY REAE I.D. A B H
o il BN NPTF DN inch mm mm inch
- - - — 30182-2-4 1/8x27 6 114 35 16 7116
?t[_"(" MH—U—D]I 30182-4-4 1/4x18 6 114 40 21 9/16
“’f 30182-4-6 1/4x18 10 3/8 45 22 9/16
A 4 30182-6-6 3/8x18 10 3/8 45 22 11/16
30182-6-8 3/8x18 12 112 49 22 11/16
30182-8-6 1/2x14 10 3/8 52 29 7/8
30182-8-8 1/2x14 12 112 55 29 718
30182-8-10 112x14 16 5/8 66 29 7/8
30182-12-8 3/4x14 12 112 56 29 3/4
30182-12-10 3/4x14 16 5/8 66 29 1-1116
o 30182-12-12 3/4x14 20 3/4 66 29 1-1116
fi(
- /
i
s
tE
JIC 37° ML - EHEsk
ISO 12151-5-SWS-DKJ
- A # (WY (@) (>
s BRLY REMNELD. A B w
UNF DN inch mm mm inch
D= i 30682-4-4 114 7/116x20 6 114 39 20 9/16
30682-6-6 3/8 9/16x18 10 3/8 44 22 11/16
X 30682-8-8 112 3/4x16 12 112 51 25 7/8
K 30682-10-10 5/8 7/8x14 16 5/8 65 28 1
$K W 30682-12-12 34 | 1-116x12 20 3/4 67 30 1-1/4
«

@)

05

L

4
N

HARSR#ESE, BEUALGRRRT R,

m A-128 ¥ 3400-CN




